1.6) Rationalising denominators



Worked example Your turn

Rationalise the denominator: Rationalise the denominator:
1 4
V2 V7
447
7
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V3
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V5




Worked example

Your turn

Rationalise the denominator and

simplify:

3v/2

Rationalise the denominator and

simplify:

10
247

5v7
7



Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and

simplify: simplify:
2—73 9 — 345
V3 V5
9v/5 — 15
5
3 —5V11

V11




Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and

simplify: simplify:
3 18
5+ /2 1++7
-3+ 3V7
4

1++/3




Worked example

Your turn

Rationalise the denominator and
simplify:
3

5—+2

Rationalise the denominator and
simplify:

18
1—+/7
—3—37



Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and

simplify: simplify:
3 18
V2-5 V7 -1
3+ 37
4

—-1++/3




Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and

simplify: simplify:
3++/2 2 =7
V2 -5 V7 -1
—5++7
6
5—-+3

—1++/3




Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and
simplify: simplify:

2v/3 +5 22 +1

V3 -2 V2 -3
—1—+2




Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and
simplify: simplify:

3v3 -5 5v5 — 2

2V3 -7 2v5 -3

4 ++/5




Worked example Your turn

Rationalise the denominator and | Rationalise:

simplify: 7 + 24/3
11 + 3\/7 11\/5 + 2
3V7 +5 775 + 2215 — 4+/3 — 14

601




Worked example Your turn

Rationalise the denominator and | Rationalise the denominator and

simplify: simplify:
(3++2)(3 -V2) (5++3)(5 - V3)
V7 V22

V22

(7 ++5)(7 —V5)
V11




Worked example Your turn

Simplify, giving your answer in Simplify, giving your answer in
the form avb: the form av/b:
V54 12 V63 21
N NG,

47




Worked example

Your turn

Show that —— = > —~/3

\/§+1

Show that

V2

11:2_\/§

2

S

1

_|_




Worked example Your turn

A rectangle has an area of A rectangle has an area of

(15 — 6v3) cm? and awidth of | (2 4+ v2) cm? and a width of
(2v/3 — 3) cm. Find the length of | (3v2 — 4) c¢m. Find the length of
the rectangle in the form a + b+v/3 | the rectangle in the form a + bv/2

7+ 5v2 cm




Worked example Your turn

Solvey(2 ++3)—V3 =4 Solve y(1++2) —+v2 =3
y=2\/§—1




Worked example Your turn

Simplify: Simplify:
Va+2-+a Va+1—+a
va+2++a Va+1++a

2a +1—2v/ava+1




Worked example Your turn
Solve: Solve:
/8 V9
== V2 55 = V3
V32 V27

x = —10



